“ Q—0 ) 5 )
@ ‘%;% @ phép cong cac phan so (cung mau so)

Tén: Ngay thang: Piém:
4 3
— 4+ = =
6 6
6 4
— 4+ — =
77
5 5
— 4+ — =
8 8
2 2
-+ — =
9 9
2 1
— 4+ — =
5 5
5 5
— 4+ — =
9 9
4 4
-+ — =
9 9
1 3
— 4+ = =
5 5
5 5
4+ =
3 3
3 5
— 4+ =
6 6

www.snowmath.com


https://www.snowmath.com

& Ol , .
@ %:% @ phép cong cac phan so (cung mau s0)

Tén: Ngay thang: Piém:
4 3 7 1
4+ =_=1=
6 6 6 6
6 4 10 3
4+ _=_—=1=
77 7
5 5 5 1
4+ ==1=-
8 8 4 4
2 2 4

4+ D=

9 90 9

2 1 3

4+ ==

5 5 5

5 5 10 1
T+ ="=1=
9 9 9 9
4 4 8

— - ==

9 9 9

1 3 4

4+ =_

5 5 5

5 5 10 1
4+l ="=3
3 3 3 3
3 5 4 1
4+l =_=1=
6 6 3 3

www.snowmath.com


https://www.snowmath.com

